


Space For Rough Work Class-VIII/02

[Time : 2.00 Hours] Full Marks  :  400

GOAL TALENT SEARCH EXAM : 2023-24

CLASS : VIII - PRACTICE PAPER
01. Which point on the graph below shows that the

substance is beginning to boil?
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02. Convection of heat takes place in
(1) metals only (2) liquids only

(3) gases only (4) liquids and gases
03. A dog pants with its tongue sticking out on a hot

day. The reason is
(1) it is its habit
(2) producing more saliva cools down the body

temperature
(3) saliva vapourises, cooling the tongue
(4) it is a genetic disease found in few animals

like dogs.
04. An electric train is moving with a velocity of

126 km/h. How much distance (in km) will it
move in 40 min?
(1) 84 km (2) 72 km
(3) 56 km (4) 42 km

05. Which mark is necessary on electric appliances?
(1) ISI (2) EICC
(3) AGMARK (4) KSK

06. The device used to prevent the flow of excess
current in the circuit is
(1) switch (2) fuse
(3) bulb (4) coil

07. In the head lights of motor vehicles, ________
mirrors are used as reflectors.
(1) plane mirrors (2) concave lenses
(3) convex mirrors (4) concave mirrors

08. Which one of the following lenses is used for real
and inverted as well as the virtual and erect
image?
(1) Concave lens
(2) Lens made by plane mirror
(3) Convex lens
(4) None of these

01. uhps n' kkZ,  x,  xzki Q i j dkSu&l k fcUnq i nkFkZ ds i zkjafHkd DoFkukad
dks n' kkZrk gS\
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02. Å"ek dk l aogu gksrk gS&
(1) dsoy / krqvksa esa (2) dsoy nzoksa esa
(3) dsoy xSl ksa esa (4) nzoksa , oa xSl ksa esa

03. xfeZ; ksa esa dqÙks v i us t hHk dks ckgj fudkydj gk¡i Qrs gS] bl dk
dkj.k gS&
(1) ; g bl dh vknr gksrh gS
(2) v f/ d ykj dk fuekZ.k dj ' kjhj ds rki eku dks BaMk djrk

gSA
(3) ykj okf"i r gksrk gS vkSj t hHk dks BaMk djrk gSA
(4) ; g , d vuqokaf' kd jksx gS t ks dqN t kuojksa] t Sl s dqÙkksa esa i k; k

t krk gSA
04. , d fo| qr jsy 126 km/h dh osx l s pyrh gS] rks 40 min

esa fdruh nwjh r;  djsxh ( fdehñ esa)
(1) 84 km (2) 72 km
(3) 56 km (4) 42 km

05. fo| qr mi dj.kksa esa dkSu&l k fpUg~ vko' ; d gS&
(1) ISI (2) EICC
(3) AGMARK (4) KSK

06. fuEufyf[ kr dkSu&l k ; a=k i fj i Fk esa vR; f/ d / kjk ds i zokg dks
jksdrk gS&
(1) fLop (2) Ý; wt
(3) cYc (4) dqUMyh

07. eksVj xkfM+; ksa ds gsM ykbVksa esa i jkorZd ds : i  esa mi ; ksx dh t krh
gS&
(1) l ery ni Z.k (2) vory ysal
(3) mÙky ni Z.k (4) vory ni Z.k

08. fuEufyf[ kr esa dkSu l k ysal  okLrfod , oa mYVk l kFk gh vkHkkl h
, oa l h/ k i zfrfcEc cukrk gS\
(1) vory ysal
(2) l ery ni Z.k }kjk cuk ysal
(3) mÙky ysal
(4) buesa dksbZ ugha
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09. A man is at rest in the middle of a pond of perfectly
smooth ice. He can get himself to the shore by
making use of Newton's

(1) First law (2) Second law

(3) Third law (4) All the laws

10. A force time graph for the motion of a body is
shown in Fig.. Change in linear momentum
between 0 and 8s is
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11. A man is walking from east to west on a level
rough surface. The frictional  force on the man
is directed

(1) from the west to east

(2) from the east to west

(3) along the north

(4) along the west

12. Liquid pressure at a point in a liquid does not
depend on the

(1) density of liquid

(2) shape of the vessel in which the liquid is kept

(3) depth of the point from the surface

(4) acceleration due to gravity

13. A horizontal force of 18 N is applied on a 2 kg
block, which rests on a horizontal surface. If the
coefficient of friction is 0.2, find the acceleration
produced in the block.   (g = 10 m/s2)

(1) 4 m/s2 (2) 6 m/s2

(3) 9 m/s2 (4) 7 m/s2

14. According to Faraday's law of electrolysis, the
amount of deposition is proportional to

(1) 1/time for which current passes

(2) electrochemical equivalent of the substance

(3) 1/current

(4) 1/electrochemical equivalent

09. i w.kZr% fpdus ci QZ ds l rg ds rkykc ds eè;  i j , d O; fDr
fojkekoLFkk esa gS] og U; wVu ds dkSu&l s fu; e dk i z; ksx dj fdukjs
i j i gq¡p l drk gS&
(1) i zFke fu; e (2) f}rh;  fu; e
(3) r R̀kh;  fu; e (4) mi ; qZDr l Hkh

10. fp=k esa , d oLrq ds xfr dk cy&l e;  vkjs[ k n' kkZ; k x; k gSA ' kwU;
l s 8 l sd.M ds chp js[ kh;  l aosx esa i fjoÙkZu gS&
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(1) 20 kg m/s (2) ' kwU;
(3) 10 kg m/s (4) 16 kg m/s

11. , d O; fDr , d v l ery l rg i j i woZ l s i f' pe dh vksj pyrk
gS] rks O; fDr i j vkjksfi r ?k"kZ.k cy dh fn' kk gS&

(1) i f' pe l s i woZ dh vksj

(2) i woZ l s i f' pe dh vksj

(3) mÙkj dh vksj

(4) i f' pe dh vksj

12. nzo esa fdl h fcanq i j nzoh;  nkc fuHkZj ugha djrk gS&

(1) nzo ds ?kuRo i j
(2) ft l  cÙkZu esa nzo j[ kk gS] ml ds vkdkj i j
(3) l rg l s fdl h fcanq dh xgjkbZ i j
(4) xq: Roh;  Roj.k i j

13. , d 2kg dk oLrq i j] t ks {kSfrt  i j  fojkekoLFkk esa gS] 18 N dk
{kSfrt  cy vkjksfi r fd; k t krk gSA ; fn ?k"kZ.k xq.kkad 0.2 gS] rks
oLrq esa mRi Uu Roj.k gS&   (g = 10 m/s2)

(1) 4 m/s2 (2) 6 m/s2

(3) 9 m/s2 (4) 7 m/s2

14. i QSjkMs ds fo| qr v i ?kVu ds fu; e ds vuql kj] fu{ksi .k dh ek=kk
fdl ds l ekuqi kfrd gS&
(1) 1/l e;  ft l ds fy,  / kjk i zokfgr gksrh gSA
(2) i nkFkZ ds fo| qr j l k; u ds l erqY;
(3) 1// kjk
(4) 1/fo| qr&jl k; u l erqY;
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15. Find the angle of incidence and angle of
reflection from the diagram.

Mirror
surface 25°

(1) 65°, 65° (2) 25°, 25°
(3) 55°, 55° (4) 35°, 35°

16. If you go on increasing the stretching force on a
wire in a guitar, its frequency.

(1) increases

(2) decreases
(3) remains unchanged

(4) none of these

17. A wave of frequency 2000 Hz travels between
X and Y, a distance of 1020 m in 3 seconds. The
number of wavelengths there in distance XY :

(1) 4000 (2) 3000

(3) 8000 (4) 6000

18. In Anodising process, which metal is coated with
its oxide to prevent corrosion
(1) Platinum (2) Copper

(3) Pure Silver (4) Gold

19. Which pair of metals do not react with water ?

(1) Cu, Au (2) Ag, Fe
(3) Fe, Hg (4) Na, Cu

20. Which process is similar to that of burning
candle except for the difference in temperature?
(1) Transpiration (2) Respiration
(3) Evaporation (4) Sublimation

21. When Copper Vessels are exposed to moist air
for a long time a green coating is formed. What
are the constituents of the coating
a. Copper Hydroxide
b. Copper Carbonate
c. Copper Oxide
(1) only 'a' and 'b' (2) only 'b' and 'c'
(3) only 'a' and 'c' (4) only b

22. The use of an element are given the following
* For bleaching paper and clothes.
* In the manufacture of Plastics, Acids,

Pesticides etc.
* To kill germs in Water
Identify the Element
(1) Chlorine (2) Nitrogen
(3) Sulphur (4) Carbon

15. fn,  x,  vkjs[ k l s vki ru dks.k , oa i jkoÙkZu dks.k dk eku ckr; sa&

n i Z. k
l r g 25°

(1) 65°, 65° (2) 25°, 25°
(3) 55°, 55° (4) 35°, 35°

16. ; fn vki  fxVkj esas rkj dk ruko cy c<+krs gaS rks bl dh vkòfÙk&
(1) c<+rh gS
(2) ?kVrh gS
(3) l eku jgrh gS
(4) buessa dksbZ ugha

17. , d 2000 Hz vkòfÙk dh rjax X , oa Y ds chp] 1020 m dh
nwjh 3 l sd.M esa r;  djrh gS] rks XY ds chp fdruh rjaxnS?; ksZa dh
l a[ ; k gS&
(1) 4000 (2) 3000
(3) 8000 (4) 6000

18. mn~}kjhdj.k ( , uksMhdj.k)  i zfØ; k esa] t ax yxus l s jksdus ds fy,
fdl  / krq dks bl ds vkWDl kbM l s yi sVk t krk gS&
(1) IySfVue (2) rk¡ck
(3) ' kq¼ pk¡nh (4) l ksuk

19. / krqvksa dk dkSu&l k ; qXe t y ds l kFk v fHkfØ; k ugha djrk gS\
(1) Cu, Au (2) Ag, Fe
(3) Fe, Hg (4) Na, Cu

20. dkSu&l h i zfØ; k] rki  esa varj dks NksM+dj] eksecÙkh ds t yus ds
l eku gS\
(1) ok"i ksRl t Zu (2) ' ol u
(3) ok"i hdj.k (4) mnkÙkhdj.k

21. t c fdl h rk¡cs ds cÙkZu dks yEcs l e;  ds fy,  ueh; qDr ok; q esa
NksM+ fn; k t krk gS rks gjs jax dk vkoj.k cu t krk gSA vkoj.k ds
?kVd D; k gSa&
a. dkWi j gkbMªkWDl kbM
b. dkWi j dkcksZusV
c. dkWi j vkWDl kbM
(1) dsoy 'a' rFkk 'b' (2) dsoy 'b' rFkk 'c'
(3) dsoy 'a' rFkk 'c' (4) dsoy b

22. fdl h rRo ds mi ; ksx fuEufyf[ kr fn,  x,  gSa&
* dkxt  rFkk di M+s ds fojat u ds fy,
* IykfLVd] vEy] dhVuk' kd bR; kfn ds fuekZ.k esa
* i kuh esa dhVk.kqvksa dks ekjus esa
rRo dks pqusa&
(1) Dyksjhu (2) ukbVªkst u
(3) l Yi Qj (4) dkcZu
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23. Metal 'X' reacts very slowly with water but reacts
vigorously with steam. Identify metal 'X'
(1) Mg (2) Ag (3) Cu (4) K

24. Elemental copper is mainly used as Electrical
wires and Cooking Vessels. Which of the
following is not a property of copper ?
(1) Ductile (2) Malleable
(3) Low M.P (4) Good conductor of heat

25. Take a small amount of Washing Soda. Add to it
about 1 ml of dilute HCl. What will you observe ?
(1) H2 gas comes out with pop sound
(2) CO2 gas comes out with brisk effervescence
(3) Only neutralisation reaction occurs, no gas

is released
(4) White coloured ppt is formed

26. For dilution of a concentrated acid, We should
add :
(1) Water in to the concentrated Acid
(2) Concentrated acid into water
(3) Both the above are correct
(4) First water into acid and then more acid into

water
27. Aqueous solution of CuSO4

(1) Turns blue litmus red
(2) Turns red litmus blue
(3) Does not effect litmus
(4) Affect both red and blue litmus

28. A chemical change may involve :
(1) Change in Colour only
(2) Change in Temperature only
(3) Evolution of gas only
(4) Any or All of the above

29. Which of the following is/are true when milk
changes into curd ?
(a) It state is changed from liquid to semi liquid
(b) It changes colour
(c) It changes taste
(d) The change cannot be reversed
Choose the correct option from below :
(1) (a) and (b) (2) (b) and (c)
(3) (a), (c) and (d) (4) (a), (b), (c) and (d)

30. Iron pillar near the Qutub Minar In Delhi is
famous for the following facts. Which of these
facts is responsible for its long stability?
(1) It is more than 7m high
(2) It weighs about 6000 kg
(3) It was built more than 1600 years ago
(4) It has not rusted after such a long period

23. / krq 'X' t y ds l kFk cgqr / hjs v fHkfØ; k djrs gSa i jUrq ok"i  ds
l kFk cgqr rst h l s v fHkfØ; k djrs gSaA / krq 'X' dks pqusa &
(1) Mg (2) Ag (3) Cu (4) K

24. rk¡ck / krq dk mi ; ksx eq[ ; r% fo| qr rkj rFkk [ kkuk cukus okys cÙkZu
esa fd; k t krk gSA fuEu esa l s dkSu rk¡ck dk xq.k ugha gS\
(1) rU; (2) vk?kkro/ Zuh;
(3) fuEu xyukad (4) m"ek dk l qpkyd

25. FkksM+h ek=kk esa / ksou l ksMk ysaA bl s yxHkx 1 ml ruq HCl esa
feyk, ¡A vki  D; k ns[ ksaxs\
(1) H2 xSl  i kWi  èofu ds l kFk ckgj vkrh gSA
(2) CO2 xSl  rst  cqncqnkgV ds l kFk ckgj vkrh gSA
(3) dsoy mnkl huhdj.k vfHkfØ; k gksrh gS] dksbZ xSl  ugha fudyrh

gS
(4) mt ys jax dk vo{ksi  curk gSA

26. l kUnz vEy ds ruqdj.k ds fy, ] gesa feykuk pkfg, &
(1) l kUnz vEy esa t y dks
(2) t y esa l kUnz vEy dks
(3) mi ; qZDr nksuksa dFku l gh gSA
(4) i gys vEy esa t y vkSj rc t y esa cgqr v f/ d vEyA

27. CuSO4 dk t yh;  ?kksy &
(1) uhys fyVel  dks yky djrk gSA
(2) yky fyVel  dks uhyk djrk gSA
(3) fyVel  i j dksbZ i zHko ugha Mkyrk
(4) yky rFkk uhys nksuksa fyVel  i j i zHkko Mkyrk gSA

28. fdl h jkl k; fud i fjoÙkZu esa gks l drk gS&
(1) dsoy jax esa i fjoÙkZu
(2) dsoy rki  esa i fjoÙkZu
(3) dsoy xSl  dk mn~Hko
(4) mi ; qZDr dksbZ ; k l HkhA

29. t c nw/  ngh esa cnyrk gS rks fuEufyf[ kr esa dkSu l R;  gS@gSa
(a) bl dh voLFkk rjy l s v¼Z rjy esa cnyrh gSA
(b) ; g jax cnyrk gSA
(c) ; g Lokn cnyrk gSA
(d) cnyko mYVk ugha gks l drk gSA
uhps l s l gh fodYi  pqusaA
(1) (a) rFkk (b) (2) (b) rFkk (c)

(3) (a), (c) rFkk (d) (4) (a), (b), (c) rFkk (d)
30. fnYyh esa dqrqcehukj ds l keus ykSg LrEHk fuEufyf[ kr rF; ksa ds

fy,  i zpfyr gSA bl ds yEcs LFkkf; Ro ds fy,  buesa l s dkSu l k rF;
mÙkjnk; h gS\
(1) ; g 7m Å¡pkbZ l s v f/ d gSA
(2) bl dk ot u yxHkx 6000 kg gSA
(3) ; g 1600 o"kZ i gys cuk; k x; k FkkA
(4) bl esa yEch vof/  ds ckn Hkh t ax ugha yxk gSA
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31. Paheli's Mother made a concentrated sugar
syrup by dissolving sugar in hot water. On
cooling, Crystals of sugar got separated. This
indicates a :
(1) Physical change that can be reversed
(2) Chemical change that can be reversed
(3) Physical change cannot be reversed
(4) Chemical change that cannot be reversed

32. Acid rain is due to the oxides of ________.
(1) Sulphur and Oxygen
(2) Nitrogen and Oxygen
(3) Sulphur and Nitrogen
(4) Lead and Nitrogen

33. Which of the following statements is not true for
Sodium and Potassium ?
(1) Both are Metals
(2) Both are hard
(3) Both are solid at room temperature
(4) Both react with oxygen to form oxides

34. Generally metals are very hard. Identify from the
following, the non-metal which is also hard
(1) Graphite (2) Silver
(3) Sponge Iron (4) Diamond

35. Disease like Polio and Chicken pox are caused
by
(1) Bacteria (2) Fungi
(3) Virus (4) Worms

36. Some medicines obtained from microorganisms
are applied to kill or stop the growth of disease
causing microorganism. Such medicine are
called
(1) Antibodies (2) Antibiotics
(3) Antiseptic (4) All

37. The pores in the bread is due to gas bubbles of
(1) Oxygen (2) NO2
(3) Nitrogen (4) CO2

38. The microbe for Malaria is carried by
(1) Male Anopheles Mosquito
(2) Female Anopheles Mosquito
(3) Male Aedes Mosquito
(4) Female Aedes Mosquito

39. Which of the following combinations are present
in plant cell but not in animal cell ?
(1) Cell wall and Plastid
(2) Cell wall and cell Membrane
(3) Plastid and Nucleus
(4) Cell membrane and Cytoplasm

31. i gsyh dh ek¡ xeZ i kuh esa phuh dks ?kqykdj xk<+k phuh dh pk' kuh
cukrh gSA BaMk djus i j phuh ds fØLVy vyx gks t krs gSaA ; g
l wfpr djrk gS&
(1) HkkSfrd i fjoÙkZu t ks O; qRØeuh;  gks l drh gSA
(2) jkl k; fud i fjoÙkZu t ks O; qRØeuh;  gks l drh gSA
(3) HkkSfrd i fjoÙkZu t ks O; qRØeuh;  ugha gks l drh gSA
(4) jkl k; fud i fjoÙkZu t ks O; qRØeuh;  ugha gks l drh gSA

32. vEy o"kkZ _____ ds vkWDl kbMksa ds dkj.k gksrh gSA
(1) l Yi Qj vkSj vkWDl ht u
(2) ukbVªkst u vkSj vkWDl ht u
(3) l Yi Qj vkSj ukbVªkst u
(4) ysM vkSj ukbVªkst u

33. fuEufyf[ kr esa dkSu l k dFku l ksfM; e vkSj i ksVSf' k; e ds fy,  l gh
ugha gS\
(1) nksuksa / krq, ¡ gSaA
(2) nksuksa dBksj gSaA
(3) dejs ds rki  i j  nksuksa Bksl  gSaA
(4) nksuksa vkWDl ht u l s i zfrfØ; k dj vkWDl kbM cukrs gSaA

34. l kekU; r; k / krq, ¡ cgqr dBksj gksrh gSaA fuEufyf[ kr esa l s ml  vèkkrq
dks pqusa t ks dBksj gksrs gSa&
(1) xzsi QkbV (2) pk¡nh
(3) Li at  vk; ju (4) ghjk

35. fcekjh] t Sl s i ksfy; ks rFkk fpdsu i kWDl  buds }kjk gksrk gS
(1) t hok.kq (2) i Qaxl
(3) fo"kk.kq (4) dhM+k

36. dqN nok, ¡ l w{et hoksa l s i zkIr dh t krh gS ft l s l w{et hoksa }kjk gksus
okyh fcekjh dks ekjus ; k ml dh òf¼ dks jksdus esa fd; k t krk gSA
oSl h nok, ¡ gSa&
(1) i zfr j{kh (2) t hok.kquk' kd
(3) jksxk.kqjks/ d (4) l Hkh

37. czsM esa fNnz bl  xSl  ds cqycqys ds dkjk.k gS&
(1) vkWDl ht u (2) NO2
(3) ukbVªkst u (4) CO2

38. eysfj; k ds fy,  l w{et ho buds }kjk ogu fd,  t krs gSa&
(1) uj , uksi Qsfyt  ePNj
(2) eknk , uksi Qsfyt  ePNj
(3) uj , fMl  ePNj
(4) eknk , fMl  ePNj

39. fuEufyf[ kr esa dkSu l k l a; kst u i kni  dksf' kdk esa mi fLFkr gksrk gS
i jUrq t Urq dksf' kdk esa ugha\
(1) dksf' kdk fHkfÙk vkSj IykfLVM
(2) dksf' kdk fHkfÙk vkSj dksf' kdk f>Yyh
(3) IykfLVM vkSj ukfHkd
(4) dksf' kdk f>Yyh vkSj dksf' kdk nzO;
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40. Every month _____ mature Egg(s) can be released
from human ovary.
(1) 1 (2) 2 (3) 3 (4) 4

41. Which one is not an Oviparous animal ?
(1) Platypus (2) Crow
(3) Bat (4) Crocodile

42. The transformation of the larva into an adult
through drastic changes is called
(1) Metaphase (2) Metastasis
(3) Meteorite (4) Metamorphosis

43. Dolly the famous animal was
(1) Donkey (2) Horse
(3) Cloned Sheep (4) Normal Sheep

44. During cell division
(1) Nucleus divides first and then cytoplasm
(2) Cytoplasm divides first and then Nucleus
(3) Nucleus and Cytoplasm divides together
(4) No such relationship

45. The first menstrual flow is called
(1) Menstruation (2) Mensuration
(3) Menarche (4) Menopause

46. When sperm containing 'Y' chromosome
fertilizes with 'X' chromosome, the zygote
develops into a _____ child
(1) Female
(2) Either a male or female
(3) Male
(4) No Child

47. Carbon Monoxide in vehicle exhaust causes
(1) Increased oxygen carrying capacity of RBC's
(2) Reduced Nitrogen carrying capacity of RBC's
(3) Reduced oxygen carrying capacity of RBC's
(4) Reduced carbon carrying capacity of RBC's

48. Van Mahotsav is
(1) Planting trees in January
(2) Cutting trees in January
(3) Cutting trees in July
(4) Planting trees in July

49. Select the correct statement with respect to
fertiliser
(1) It is an organic salt
(2) It can be prepared in the fields
(3) Fertiliser does not provide any humus to the

soil
(4) It is relatively less rich in plant nutrients

40. i zR; sd eghuk _____ i fji Do v.Ms ekuo vaMk' k;  l s fudy l drs
gSaA
(1) 1 (2) 2 (3) 3 (4) 4

41. fuEufyf[ kr esa dkSu vaMksRi Uu djus okys t kuoj ugha gSa\
(1) IysfVi l (2) dkSvk
(3) pexknj (4) exjePN

42. v f/ d cnyko ds }kjk dhVfMEHk dk o; Ld esa cnyuk dgykrk gS&
(1) esVki Qst (2) : i  i fjoÙkZu
(3) esfV; ksjkbV (4) : i kUr j. k

43. i zpfyr t kuoj MkWyh Fkh@Fkk&
(1) x/ k (2) ?kksM+h
(3) HksM+ dk Dyksu (4) l kekU;  HksM+

44. dksf' kdk foHkkt u ds nkSjku &
(1) i gys ukfHkd VwVrk gS vkSj rc dksf' kdk nzO;
(2) i gys dksf' kdk nzO;  VwVrk gS vkSj rc ukfHkd
(3) ukfHkd rFkk dksf' kdk nzO;  , d l kFk VwVrs gSaA
(4) dksbZ , sl k l aca/  ugha gSA

45. i gyh egkokjh dgykrh gS&
(1) ekfl d / eZ (2) esU' kqjs' ku
(3) j t ksn' kZu (4) j t ksfuòfÙk

46. t c 'Y' xq.kl w=k okys ' kqØk.kq 'X' xq.kl w=k ds l kFk fu"ksfpr gksrs gSa rks
; qXeut  ________ cPps esa fodfl r gksrh gSA
(1) efgyk
(2) ; k rks i q: "k ; k efgyk
(3) i q: "k
(4) dksbZ cPpk ugha

47. okgu fudkl  esa dkcZu eksuksvkWDl kbM mRi Uu djrk gS&
(1) RBC's ds vkWDl ht u ogu djus dh {kerk dks c<+krk gSA
(2) RBC's ukbVªkst u ogu djus dh {kerk dks ?kVkrk gSA
(3) RBC's vkWDl ht u ogu djus dh {kerk dks ?kVkrk gSA
(4) RBC's dkcZu ogu djus dh {kerk dks ?kVkrk gSA

48. ou egksRl o gS&
(1) t uojh esa ò{kkjksi .k
(2) t uojh esa ò{k dVko
(3) t qykbZ esa ò{k dVko
(4) t qykbZ esa ò{kkjksi .k

49. moZjd ds l ki s{k esa l gh dFku dks pquas&
(1) ; g , d dkcZfud yo.k gSA
(2) bl s [ ksrksa esa cuk; k t k l drk gSA
(3) moZjd feV~Vh dks dksbZ ueh i znku ugha djrk gSA
(4) ; g i kS/ ksa ds i ks"k.k esa rqyukRed : i  l s de vPNk gSA
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50. Advantage of Manure is :

(1) It decreases the water holding capacity of the
soil

(2) It makes the soil non porus

(3) It increases the number of friendly microbes

(4) It do not improves the texture of the soil

51. There were only two candidates in an election.
One got 62% votes and was elected by a margin
of 144 votes. The total number of voters were –

(1) 500 (2) 600

(3) 700 (4) 800

52. If 0.01 0.0064 x,   then the value of X is –

(1) 0.3 (2) 0.03

(3) 0.18 (4) None of these

53. The perimeter of triangle is 6P2 – 4P + 9 and two
of its sides are P2 – 2P + 1 and 3P2 – 5P + 3. Find
the third side of a triangle.

(1) 8P2 + 11 P – 7 (2) 2P2 + 3P + 5

(3) 3P2 + 3P – 4 (4) 5P2 – 5P + 9

54. If 33 –2744 0.008 x,  then the value of x is –

(1) 70 (2) – 70 (3) 14 (4) – 14

55. If 33
3

13 x – 2,
x

   
 

 then 3
3

1x
x

  .........

(1)
10
3 (2)

10
3



(3)
3

15 (4) Both (1) and (2)

56. How many cubes of side 2cm can be packed in a
cubical box with inner side equal to 4 cm ?

(1) 6 (2) 4 (3) 8 (4) 2

57. In the five digit number 1b6a3, a is the greatest
single digit perfect cube and twice of it exceeds
b by 7. Then the sum of the number and its cube
root is –

(1) 18700 (2) 11862
(3) 19710 (4) 25320

58. The value of 
 


6 3 21
3

9 12

a b c
c a

 is –

(1)
3

2
bc
a


(2)
4

2
bc
a

(3)
4

2
ab
c


(4)

4

2
bc
a


50. [ kkn ds ykHk gS&
(1) ; g feV~Vh ds i kuh i dM+us dh {kerk dks ?kVkrk gSA
(2) ; g feV~Vh dks fNnz jfgr cukrk gSA
(3) ; g i zQsaMyh l w{et hoksa dh l a[ ; k dks c<+krk gSA
(4) ; g feV~Vh ds cukoV dks vPNk ugha djrk gSA

51. , d pquko esa dsoy nks gh mEehnokj FksA , d us 62% oksV i zkIr
fd; k vkSj 144 oksV ds vUrj l s pquk x; kA oksVks dh dqy l a[ ; k
Fkh&
(1) 500 (2) 600
(3) 700 (4) 800

52. ; fn 0.01 0.0064 x,   rc X dk eku gS&
(1) 0.3 (2) 0.03

(3) 0.18 (4) buesa l s dksbZ ugha
53. f=kHkqt  dh i fjf/  6P2 – 4P + 9 gS vkSj bl dh nks Hkqt k, ¡

P2 – 2P + 1 vkSj 3P2 – 5P + 3 gSaA f=kHkqt  dk rhl jh Hkqt k Kkr
djsaA
(1) 8P2 + 11 P – 7 (2) 2P2 + 3P + 5
(3) 3P2 + 3P – 4 (4) 5P2 – 5P + 9

54. ; fn 33 –2744 0.008 x,  rks x dk eku gS&
(1) 70 (2) – 70 (3) 14 (4) – 14

55. ; fn 33
3

13 x – 2,
x

   
 

 rks 3
3

1x
x

  .........

(1)
10
3

(2)
10
3



(3)
3

15 (4) (1) vkSj (2) nksuksa

56. 4 cm ds cjkcj ds vkarfjd Hkqt k ds , d ?kukdkj cDl s esa 2cm
Hkqt k ds ?kukdkj cDl s esa fdrus ?ku i Sd fd,  t k l drs gSa\
(1) 6 (2) 4 (3) 8 (4) 2

57. i k¡p vadksa dh l a[ ; k 1b6a3 esa] a l cl s cM+k vdsyk i w.kZ ?ku gS
vkSj bl dk nksxquk b l s 7 v f/ d gSA rks l a[ ; k bl ds ?kuewy dk ; ksx
gS&
(1) 18700 (2) 11862
(3) 19710 (4) 25320

58.
 


6 3 21
3

9 12

a b c
c a

 dk eku gS&

(1)
3

2

bc
a


(2)
4

2

bc
a

(3)
4

2

ab
c


(4)

4

2

bc
a

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59. A hoop is resting vertically at staircase as shown
in the diagram. AB = 12 cm, BC = 8 cm. The
radius of the hoop is –

A B

C

(1) 13 cm (2) 12 2 cm

(3) 14 cm (4) 13 2 cm

60. The thickness of a hollow metallic cylinder is
2 cm. It is 70 cm long with outer radius of
14 cm. Find the volume of the metal used in
making the cylinder, assuming that it is open
at both the ends. Also find its weight If the metal
weighs 8 g per cm3.
(1) 10440 cm3, 91250 g
(2) 13440 cm3, 90000 g
(3) 11440 cm3, 91520 g
(4) 12440 cm3, 91550 g

61. The value of 
2001 1999

2000 1998

2 2 ,
2 – 2


 is –

(1) 2 (2) 10/3
(3) 21000 + 1 (4) 10

62. Simplify :–

          
     

      
     

2 2 2 2 2 2a b ab b c cb c a caa b c

b c a

x x x
x x x

(1) 1 (2) (a + b + c)3

(3) a2 + b2 + c2 (4) 0

63. If (6x)6 = 326 , then find the value of x.

(1) 1 (2) 6 (3) 3 6 (4) 6 6

64. The exterior angle of a regular polygon is
one–third of its interior angle. How many sides
does the polygon has ?

(1) 10 (2) 8 (3) 9 (4) 13

65. In the given figure, line RT is drawn parallel to
SQ. If QPS = 100°, PQS = 40°, PSR = 85° and
QRS = 70° then QRT = .......

P Q

R

T

S
(1) 45° (2) 65°

(3) 85° (4) 90°

59. fp=k esa n' kkZ,  vuql kj , d NYys dks l h<+h i j mnxz : i  l s j[ kh xbZ
gSA AB = 12 cm, BC = 8 cm NYys dh f=kT; k gS&

A B

C

(1) 13 cm (2) 12 2 cm

(3) 14 cm (4) 13 2 cm

60. , d [ kks[ kyh / krq ds fl ysaMj dh eksVkbZ 2cm gSA 14 cm ckg~;
f=kT; k ds l kFk ; g 70 cm yEck gSA fl ysaMj cukus esa mi ; ksx dh
xbZ / krq dk vk; ru Kkr djsa] eku ysa fd ; g nksuksa fl js l s [ kqyk
gSA bl dk ot u Hkh Kkr djsa ; fn / krq dk ot u 8 g i zfr cm3 gSA
(1) 10440 cm3, 91250 g

(2) 13440 cm3, 90000 g

(3) 11440 cm3, 91520 g

(4) 12440 cm3, 91550 g

61.
2001 1999

2000 1998

2 2 ,
2 – 2


 dk eku gS&

(1) 2 (2) 10/3

(3) 21000 + 1 (4) 10

62. l jy djsa &

          
     

      
     

2 2 2 2 2 2a b ab b c cb c a caa b c

b c a

x x x
x x x

(1) 1 (2) (a + b + c)3

(3) a2 + b2 + c2 (4) 0

63. ; fn (6x)6 = 326  rks x dk eku gS&

(1) 1 (2) 6 (3) 3 6 (4) 6 6

64. , d l ecgqHkqt  dk ckg~;  dks.k vkarfjd dks.k dk , d frgkbZ gSA
cgqHkqt  esa fdruh Hkqt k, ¡ gS\
(1) 10 (2) 8 (3) 9 (4) 13

65. fn; s x,  fp=k esa js[ kk RT, SQ ds l ekukUrj gSA vxj  QPS =
100°, PQS = 40°, PSR = 85° vkSj QRS = 70° rc
QRT = .......

P Q

R

T

S
(1) 45° (2) 65°

(3) 85° (4) 90°
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66. If a number X is 10% less than the another
number Y is 10% more than 125, then X is equal
to –

(1) 123.75 (2) 140.55

(3) 143 (4) 150

67. A number is increased by 10% and then it is
decreased by 10%. Find the net increase or
decrease percent.

(1) Decrease by 1% (2) Decrease by 10%

(3) Increase by 2% (4) Increase by 11%

68. x is 5% of y, y is 24% of z. If x = 480, find the
values of y and z.

(1) 9500, 40000 (2) 9600, 40000

(3) 9800, 50000 (4) 9600, 50000

69. If x x–110 3 – 3 81,
3
   then the value of x is –

(1) 2 (2) 1 (3) 3 (4) 0

70. A cistern has two inlets A and B. Which can fill
it in 12 minutes and 15 minutes respectively.
An outlet C can empty the full cistern in
10 minutes. If all the three pipes then are opened
together in the empty cistern, time taken to fill
the cistern completely is –

(1) 20 minutes (2) 10 minutes

(3) 15 minutes (4) 5 minutes

71. A girl 5.5 feet casts a shadow 70 inches long. At
a same time a telephone pole casts a shadow
314 inches long. Which proportion cannot be used
to find the heigh of the telephone pole?

5.5 feet
x

70 inches 314 inches

(1)
      
   

70 314
5.5 x (2)

      
   

70 5.5
314 x

(3)
      
   

x 314
5.5 70 (4)

      
   

70 5.5
x 314

72. A 5-digit number xy235 is divisible by 3 such
that x + y < 5, where x and y are digits, then
possible values of (x, y) are ____.

(1) (1, 1) or (4, 0) (2) (1, 1) or (2, 0)

(3) (1, 1) or (0, 2) (4) (2, 0) or (0, 2)

66. ; fn dksbZ l a[ ; k X, 125 l s 10% v f/ d fdl h vU;  l a[ ; k Y l s
10% de gS rks X cjkcj gS&
(1) 123.75 (2) 140.55

(3) 143 (4) 150

67. fdl h l a[ ; k dks 10% c<+k; k t krk gS vkSj fi Qj ml s 10% ?kVk; k
t krk gSA dqy v f/ drk ; k U; wurk dk i zfr ' kr Kkr djsaA

(1) 1% ?kVsxk  (2)10% ?kVsxk

(3) 2% c<+sxk (4) 11% c<+sxk

68. x, y dk 5% gS] y, z  dk 24% gSA vxj x = 480, y vkSj z ds
eku Kkr djsaA
(1) 9500, 40000 (2) 9600, 40000

(3) 9800, 50000 (4) 9600, 50000

69. ; fn x x–110 3 – 3 81,
3
   rks x dk eku gS&

(1) 2 (2) 1 (3) 3 (4) 0

70. , d Vadh esa nks i zos' k gS A vkSj B t ks bl s Øe' k% 12 feuV vkSj
15 feuV esa Hkj l drk gSA , d fudkl h C i wjh Vadh dks 10 feuV
esa [ kkyh dj l drk gSA vxj rhuksa i kbi ksa dks [ kkyh Vadh esa , d
l kFk [ kksy fn; k t k, ] rks i wjh Vadh dks Hkjus esa yxus okyk l e;  gS&

(1) 20 feuV (2) 10 feuV

(3) 15 feuV (4) 5 feuV

71. , d 5.5 i QhV yM+dh dk 70 bap yEck i zfrfcEc cukrk gSA ml h
l e;  , d Vsyhi Qksu i ksy dk 314 bap yEck i zfrfcEc curk gSA
Vsyhi Qksu i ksy Å¡pkbZ Kkr djus ds fy,  fdl  vuqi kr dk mi ; ksx
ugha fd; k t k l drk gS\

5.5 i QhV
x

70 bap 314 bap

(1)
      
   

70 314
5.5 x (2)

      
   

70 5.5
314 x

(3)
      
   

x 314
5.5 70 (4)

      
   

70 5.5
x 314

72. , d 5 vad dh l a[ ; k xy235, 3 l s bl  i zdkj HkkT;  gS fd
x + y < 5, t gk¡ x vkSj y vad gS] rks (x, y) dk l aHko eku ____ gSA

(1) (1, 1) ; k (4, 0) (2) (1, 1) ; k (2, 0)

(3) (1, 1) ; k (0, 2) (4) (2, 0) ; k (0, 2)
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73. For a group of 32 students food lasts for 45 days.
For how many days will the same food last for
72 students?

(1) 13 (2) 40 (3) 20 (4) 6

74. In the given figure RSTV is square inscribed in
circle with centre O and radius r. The total area
of the shaded region is –

O

r
R S

V T

(1) r2 ( – 2) (2) 2r2 (2 – )

(3) (r2 – 2) (4) 8r2 – 8r

75. If 2
2

1x 53
x

  , find the value of 1x
x



(1) 51 (2) 53 (3) 61 (4) 63

76. Satish's garden is in the form of a parallelogram

whose one side is 4.8 cm and other side is 
11
2

times of this side. He wants to fence his garden
four times by a wire. Find the length of wire
required.

(1) 96 cm (2) 108 cm

(3) 132 cm (4) 84 cm

77. If ax = by = cz and b2 = ac, then y equals –

(1)
2xz
x z

(2)  
xz

2 x z

(3)  
xz

2 z x (4)  
2xz
x z

78. When 5 × 10–3 – 2000 × 10–6 is expressed in
standard form, we will get

(1) 3 × 10–2 (2) 3 × 10–3

(3) 3 × 103 (4) 3 × 102

79. In a school only 3 out of 5 students can
participate in a competition. What is the
probability of the students who do not make it to
the competition ?

(1) 0.65 (2) 0.4

(3) 0.45 (4) 0.6

73. 32 Nk=k ds l ewg ds fy,  45 fnuksa dk Hkkst u gSA bruk gh Hkkst u
72 Nk=k ds fy,  fdrus fnuksa ds fy,  gksxk\
(1) 13 (2) 40 (3) 20 (4) 6

74. fn; s x,  fp=k esa] dsUnz O vkSj f=kT; k r okys òÙk esa , d oxZ RSTV
vafdr gSA i wjs Nk; kafdr {ks=k dk {ks=ki Qy gS&

O

r
R S

V T

(1) r2 ( – 2) (2) 2r2 (2 – )

(3) (r2 – 2) (4) 8r2 – 8r

75. ; fn 2
2

1x 53
x

  , 1x
x

  dk eku Kkr djsaA

(1) 51 (2) 53 (3) 61 (4) 63

76. l rh' k dk cxhpk , d l ekukarj prqHkqZt  t Sl k cuk gS] ft l dk , d

fdukjk 4.8 cm vkSj nwl jk fdukjk bl  fdukjs dk 
11
2  xq.kk gSA og

cxhpk dks , d rkj l s pkj ckj ?ksjk yxkuk pkgrk gSA vko' ; d rkj
dh yEckbZ Kkr djsaA
(1) 96 cm (2) 108 cm

(3) 132 cm (4) 84 cm

77. ; fn ax = by = cz vkSj b2 = ac, rks y cjkcj gS&

(1)
2xz
x z

(2)  
xz

2 x z

(3)  
xz

2 z x (4)  
2xz
x z

78. t c 5 × 10–3 – 2000 × 10–6 dks ekud : i  esa O; Dr djsxsa]
ge i k, ¡xs&
(1) 3 × 10–2 (2) 3 × 10–3

(3) 3 × 103 (4) 3 × 102

79. , d Ldwy esa 5 esa l s dsoy 3 cPps , d i zfr; ksfxrk esa Hkkx ys l drs
gSA i zfr; ksfxrk esa Hkkx ugha ysus okys Nk=kksa dh l aHkkouk D; k gksxh\
(1) 0.65 (2) 0.4

(3) 0.45 (4) 0.6



Space For Rough Work Class-VIII/012

80. In figure, If AB||CD, APQ = 50° and PRD =
127°, find x and y.

A B

x
C D

M

RQ

P

y50°

127°

(1) 50°, 77° (2) 65°, 90°
(3) 40°, 153° (4) 40°, 60°

81. If ‘rain’ is called ‘water’, ‘water’ is called ‘road’,
‘road’ is called ‘cloud’, ‘cloud’ is called ‘sky’, ‘sky’
is called ‘sea’ and ‘sea’ is called ‘path’, then where
do aeroplanes fly ?
(1) sea (2) sky
(3) water (4) road

82. Madan is taller than Shyam, who is shorter than
Rohit. Vipin is taller than Akash. Ahmed is
shorter than Vivek. Neither Vipin nor Vivek is
the tallest. If Rohit is standing second in
decreasing order of heights, who will stand in
the middle in the group of these seven persons ?
(1) Vipin (2) Vipin or Vivek
(3) Ahmed (4) Can’t be determined

83. If in each number, the second and the third digits
are interchanged, which will be the second
highest number ?
(1) 427 (2) 581 (3) 839 (4) 589

84. There is a certain relationship between figures
P and Q & R and S. Identify the relationship and
find the missing figure.

?

P Q R S

(1) (2)

(3) (4)

85. In which of the following options, Fig. (X) is exactly
embedded as one of its part ?

X

(1) (2)

(3) (4)

80. fp=k esa] ; fn AB||CD, APQ = 50° v kSj PRD
= 127°, x vkSj y Kkr djsaA

A B

x
C D

M

RQ

P

y50°

127°

(1) 50°, 77° (2) 65°, 90°
(3) 40°, 153° (4) 40°, 60°

81. vxj ô"kkZ* dks î kuh* dgk t krk gS] î kuh* dks l̂ M+d* dgk t krk
gS] l̂ M+d* dks ĉkny* dgk t krk gS] ckny dks v̂kd' k* dgk t krk
gS] vkdk' k dks l eqnz dgk t krk gS] vkSj l̂ eqnz* dks ĵkLrk* dgk
t krk gS] rc gokbZ t gkt  dgk¡ mM+rk gS\
(1) l eqnz (2) vkdk' k
(3) i kuh (4) l M+d

82. enu ' ; ke l s yEck gS] t ks jksfgr l s NksVk gSA fofi u vkdk' k l s
yEck gSA vgen foosd l s NksVk gSA u rks fofi u vkSj uk gh foosd
l cl s yEck gSA ; fn jksfgr yEckbZ ds ?kVrs gq,  Øe esa nwl js LFkku
i j [ kM+k gSA rks l kr yksxksa ds l ewg esa chp ds LFkku i j dkSu [ kM+k
gksxk\
(1) fofi u (2) fofi u ; k foosd
(3) vgen (4) fu/ kZfjr ugha fd; k t k l drk gS

83. ; fn i zR; sd l a[ ; k esa] nwl js vkSj rhl js vad dks vki l  esa cny fn; k
t krk gS] rks dkSu nwl jh l cl s cM+h l a[ ; k gksxh\
(1) 427 (2) 581 (3) 839 (4) 589

84. fp=kksa P rFkk Q vkSj R vkSj S ds chp , d fuf' pr l aca/  gSA
l aca/  dks i gpkusa vkSj yqIr fp=k dks Kkr djsaA

?

P Q R S

(1) (2)

(3) (4)

85. fuEufyf[ kr esa l s fdl esa fp=k (X) i wjh r jg l s bl ds , d Hkkx esa
vr% LFkkfi r gks t k; sxk\

X

(1) (2)

(3) (4)
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86. Choose the odd numeral pair in question :

(1) 43–6 (2) 28–4

(3) 50–7 (4) 36–5

87. Choose a similar pair as the given number pair
on the basis of the relation between the numbers
in each pair.

12 : 169 : : ? : ?

(1) 7 : 50 (2) 11 : 144

(3) 15 : 240 (4) 5 : 49

88. If D = 4, and COVER = 63, then BASIS = ?

(1) 49 (2) 50

(3) 54 (4) 55

89. In the following question, one term is wrong. Find
out the wrong term.

24, 27, 31, 33, 36 ,39

(1) 24 (2) 27

(3) 31 (4) 33

90. Find the missing character in the following
question.

84

14 12

81

18 9

88

? 11

(1) 16 (2) 21 (3) 61 (4) 81

91. How many 7s are there in the following number
series which are preceded by 9 and also followed
by 6?

7 8 9 7 6 5 3 4 2 8 9 7 2 4 5 9 2 9 7 6 4 7

(1) Two (2) Three

(3) Four (4) Five

92. Find the missing term to complete the given
series.

0, 6, 24, 60, 120, 210, ?

(1) 336 (2) 302

(3) 290 (4) 242

 In the following question, a series is given. A
term in series is missing. Find the missing term
from amongst the options.

0.5, 1.5, 4.5, 13.5, ?

(1) 45.5 (2) 39.5

(3) 30.5 (4) 40.5

86. i z' u esas fo"ke vad ds ; qXe dks pqusa %
(1) 43–6 (2) 28–4
(3) 50–7 (4) 36–5

87. i zR; sd ; qXe esa l a[ ; k ds chp ds l aca/  ds vk/ kj i j nh xbZ l a[ ; k
; qXe ds : i  esa , d l eku ; qXe pqusaA
12 : 169 : : ? : ?

(1) 7 : 50 (2) 11 : 144

(3) 15 : 240 (4) 5 : 49

88. ; fn D = 4, vkSj COVER = 63, rc BASIS = ?

(1) 49 (2) 50

(3) 54 (4) 55

89. fuEufyf[ kr i z' u esa , d i n xyr gS&

xyr i n dks Kkr djsaA
24, 27, 31, 33, 36 ,39

(1) 24 (2) 27

(3) 31 (4) 33

90. fuEufyf[ kr i z' u esa yqIr vad Kkr djsaA

84

14 12

81

18 9

88

? 11

(1) 16 (2) 21 (3) 61 (4) 81

91. fn; s x,  l a[ ; k esa , sl h fdruh 7 gSA t ks 9 l s i gys vkSj 6 ds ckn
gS\
7 8 9 7 6 5 3 4 2 8 9 7 2 4 5 9 2 9 7 6 4 7

(1) nks (2) rhu

(3) pkj (4) i k¡p

92. nh xbZ Jà[ kyk dks i wjk djus ds fy,  yqIr i n dks Kkr djsaA

0, 6, 24, 60, 120, 210, ?

(1) 336 (2) 302

(3) 290 (4) 242

93. fuEufyf[ kr i z' u esa , d Jà[ kyk nh x; h gSA Jà[ kyk dk , d i n
yqIr gSA fn; s x,  fodYi  esa l s yqIr i n dks Kkr djsaA

0.5, 1.5, 4.5, 13.5, ?

(1) 45.5 (2) 39.5

(3) 30.5 (4) 40.5
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94. Select a figure from the options which will
continue the same series as established by the
Problem Figures.

Problem Figures

(1) (2)

(3) (4)

95. Select a figure from the options which completes
the first pair in the same way as the second pair?

?

(1) (2)

(3) (4)

96. Which of the following indicates similar
relationship as ‘LOWER’ has with ‘WORLE’ ?

(1) ENTRY : RNYET (2) WORDS : ROSWD

(3) AMONG : OMNAG (4) GLAZE : AGELZ

97. In a certain code language ‘ne ri so’ means ‘good
rainy day’, ‘si ne po’ means ‘day is wonderful’
and ‘ri jo’ means ‘good bye’. Which of the following
means ‘rainy’ in that code ?

(1) ne (2) so (3) si (4) ri

98. If P + Q means ‘P is the brother of Q’, P × Q means
‘P is the wife of Q’ and P  Q means ‘P is the
daughter of Q’, then which of the following means
‘A is the niece of D’ ?

(1) A B × C + D (2) A × B + C D

(3) A + C B × D (4) A C + B  D

94. fn; s x,  fodYi  esa l s ml  , d fp=k dks pqus t ks i z' u fp=k dh
Jà[ kyk dks t kjh j[ krk gSA

i z' u fp=k

(1) (2)

(3) (4)

95. fodYi  esa l s , d fp=k dks pqusa t ks nwl js ; qXe ds l eku gh i gyh
; qXe cukrk gksa \

?

(1) (2)

(3) (4)

96. ‘LOWER’  ds l kFk ‘WORLE’  ds l eku l aca/  dks l wfpr djrk
gS\
(1) ENTRY : RNYET (2) WORDS : ROSWD

(3) AMONG : OMNAG (4) GLAZE : AGELZ

97. , d fuf' pr l kadsfrd Hkk"kk esa ‘ne ri so’ dk eryc ‘good
rainy day’, ‘si ne po’ dk eryc ‘day is wonderful’
vkSj ‘ri jo’ dk eryc ‘good bye’A bl  l adsr esa ‘rainy’ dk
eryc fuEufyf[ kr esa l s dkSu l k gS\
(1) ne (2) so (3) si (4) ri

98. ; fn P + Q dk eryc ‘P, Q dk HkkbZ gS’, P × Q dk eryc ‘P ,Q
dh i Ruh gS’ vkSj P  Q dk eryc ‘P, Q dh csVh gS’, rc
fuEufyf[ kr esa l s fdl dk eryc ‘A, D dh Hkk¡t h gSa’ ?
(1) A B × C + D (2) A × B + C D

(3) A + C B × D (4) A C + B  D
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99. In the following question, a group of figures is
given. Choose the figure from the options which
will continue the series.
Problem Figure

A B C D

Answer Figures

(1) (2) (3) (4)

100. Select the figure from the options which will
replace the (?) to complete the given figure
matrix.

?
(1) (2) (3) (4)

99. fuEufyf[ kr i z' u esa] fp=kksa dk , d l ewg fn; k x; k gSA fodYi  esa
l s ml  fp=k dks pqusa t ks  Ük̀a[ kyk dks t kjh j[ krk gSA
i z' u fp=k

A B C D

mÙkj  fp=k

(1) (2) (3) (4)

100. fodYi  esa l s ml  fp=k dks pqusa t ks vkdf̀r okys eSfVªDl  esa (?) dks
foLFkkfi r dj ml s l ai w.kZ djrk gSA

?
(1) (2) (3) (4)
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1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

(3)

(4)

(3)

(1)

(1)

(2)

(4)

(3)

(3)

(2)

(2)

(2)

(4)

(2)

(1)

(1)

(4)

(2)

(1)

(2)

(1)

(1)

(1)

(3)

(2)

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.
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76.

77.

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

99.

100.

(2)

(1)

(4)

(3)

(4)

(1)

(3)

(2)

(4)

(3)

(2)

(4)

(2)

(1)

(1)

(3)

(4)

(3)

(1)

(3)

(3)

(3)

(4)

(3)

(3)

(2)

(1)

(2)

(2)

(4)

(3)

(3)

(2)

(1)

(3)

(2)

(1)

(3)

(2)

(2)

(1)

(1)

(2)

(3)

(1)

(4)

(2)

(3)

(1)

(1)

(1)

(1)

(2)

(2)

(1)

(1)

(4)

(4)

(3)

(4)

(2)

(2)

(2)

(3)

(1)

(1)

(1)

(4)

(4)

(3)

(2)

(2)

(1)

(4)

(4)




